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Six tests:

SPTCP: MPTCP: (WIFI primary subflow)

HTTP WIFI HTTP

SPDY LTE SPDY



Sequential behavior:

the browser gives that connection (i.e., Connection 8 in Figure 5(a)) a high priority based on various 
heuristics, 
e.g. the browser estimates the connection’s congestion window to be large due to its use of MPTCP, 
and thus the browser may think using that connection to transfer objects sequentially takes shorter 
time than using other idle connections

Larger cwnd ---> prefer one connection over others (HTTP unknow smtp)

MPTCP prefers less lossy LTE path when 
losses occur over WiFi. 

under  0%, 0.5%, and 1% additional PLR, 
For SPDY, 62.2%, 66.3%, and 69.2% 
(median) of TCP payload is delivered over 
LTE. 
For HTTP, 35.5%, 36.4%, and 37.0% on 
LTE, respectively, 

because HTTP flows are very short and 
thus the LTE path has much smaller 
chances of being used (no time to adjust).



HTTP over MPTCP is more sensitive to 
delays compared to SPDY over MPTCP.

network time of HTTP counts heavier, 
hence a proportional increase of network 
time impacts more
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